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REAL NUMBERS

SOLUTION 25

Two brands of chocolates are available in packs of 24 and 15 respectively. If |
need an equal number of chocolates of both kinds, what is the least number of
boxes of each kind | would need to buy?

Solution:

Since the least number of boxes of each kind are required, the number of
chocolates packed in each box should be maximum i.e. the HCF of 24 and 15.

By Euclid’s Division Algorithm
24 =15%x1+4+9
15=9x1+6

9=6X%x1+3

6=3%X2+4+0

HCF=3

Number of boxes of first kind = % =8

Number of boxes of second kind = 1?5 =5



